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Amar drives his car for 2 hours at a speed om/h, for 3 hours at a speed
of 80 km/h and for 1 hour at a speed of 40 km/h and reaches his hometown.

What is his average speed (in km/h)?
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The value of 0.04 +~ 0.002 + 0.5 x 0.002 = 0.0004 is :
0.04 = 0.002 + 0.5 x 0.002 + 0.0004 ST HTT AT &2
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1. 22.5

2. 22
3. 20

4. 21.5
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The sum of five numbers A, B, C, D and E is 37.5. The average of A and B is

6, and the average of D and E is 9. The average of A, B and C is:
gie HEATSAT A, B, C, D 3R E ST TN 37.5 § A 3R B &7 3194 6 7, 3R D iR

E ST 3THEd 9 31 A, B 31X C T 31H9d 3T 82

N
T ArRYCED =31 —O
|
. AYSYC =\ S
A
P‘ % -6 >. = \a-< 2. 6
\B%t - D Do =0 S
= PARYDES T — @*’Q*
O-® <

4. 5.5
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If the diameter of the base of a cone is 24 cm and its curved surface area is

1395 3/7 cm?, then its height is: (Take TT = 22/7)
ATE Uk Yk ok HATIR hT SATH 24 AT 7 aﬁ'{mazsgg"ra &A% 1395 3/7
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2. 36 cm
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Anil Kumar sold an article to Rajat fory losing 25%. Rajat sells it to
David at a price that would have given Anil Kumar a profit he profit

percentage earned by Rajat is:
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The least number of square tiles required to pave the ceiling of a room, 12 m

95 cm long and 3 m 85 cm broad, is:
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Twelve years ago, the ratio of the ages of Anil and Bishu was 5 : 12. Eight

years from now, the ratio of their ages will be 10 : 17. What is the ratio of the

present ages of Anil and Bishu?
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A person reaches his destination 32 minutes late if his speed is 6 km/h, and he
reaches 18 minutes before time if his speed is 7 km/h. Find the distance of his
destination from his starting point. }/( A 2\/\5
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3. 30 km

4. 32 km
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A man travelled a distance of 47 km in 6 hours. He travelled partly on foot at

the rate of 6 /2 km/h, and partly on bicycle at the rate of 8 %2 km/h. The

e

distance travelled on foot is:
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An article is listed at 15,000 and the discount offered is 12%. What additional

discount must be given to bring the net selling price to ¥12,078?
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If the height of a cylinder is increased by 30%, and the radius of its base is

decreased by 15%, then by what percentage will its curved surface area
change?
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1. 10%

2. 12%

3. 8%

4. 10.5%
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A rectangular water reservoir contains 126 Kilolitres of water. The depth of

the reservoir is 3.5 m and its length measures 8 m. What is the width of the

reservoir?
Teh JTAATRT STATIT | 126 TReTieA e aTt 21 STeATera <hl Tedre 3.5 Hiex § 3T
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4. 4.5 m






